mz I\Ichg/d ﬂdqﬂ

Ratio to ATLAS

7000 GeV pp Underlying Event

= ~ - r T T T
2.2 — —
<IN,,> density wrt of leading track(|n| < 2.5, p.>05GeV,p >3 Gel
2 m  ATLAS ]
[ --G-- Herwig++ 2.6.3 default ]
1.8 — --O3-- Herwig 7.2.0 default —
1.6 —
1.4 —
12— —
-G _
_I.ﬁ .
L Mg 4ERERE
S .
0.8 1~ SRS E
0.6 — —
0.4 — —
e T
- ' ' ' ' ! ' ' ' ' ! ' ' ' ' [
2 £ =
L ]
0.5 ]

I T SR S I T ST S R T T S S l

Rivet 3.1.0, > 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


